ARIBEERF2EIF - -3 - BivpRERLE

B~ B =
FIB | RE | L % =X FT% | EEL | ¥ L z =x
107 26 [RZX| FiR 202 33 |mRE| HFiR
108 06 |mPx|l #FiE 202 11 |[mE=| #iE
106 31 |7 k| &g 203 08 |&EP:pr| g
104 14 (344 BF 202 02 |[zx57| BX
109 35 || B 207 02 |#ie k| BF
115 04 |3"e&| BF 213 22 |2 AR BE
101 03 |3#F7e2| @ir 201 07 |Bizids| @i
102 16 [z=Fim| @FiF 202 10 |[mdc®| i#iF
103 33 | ARE| &iF 203 24 [HRGE| BT
104 27 |MRlz [ &% 204 23 | R | @#IF
105 33 |ApEEel #iT 205 32 |wEz| #iv
106 30 |[wmF| @iF 206 36 |gpmF| &iv
107 37 |[#Hp| @&iF 207 18 | thaEip| i#iE
108 38 |4k | BT 208 13 |RPRAFE| #iF
109 16 [F4re| v 209 30 [wARYP| =i
110 19 AR &EiF 210 22 |Fxm| &iv
111 20 |MRLE| &ir 211 10 |ASHE| #ir
112 11 [F A& #iF 212 10 |p275)| #ir
113 05 |pgEmm | &% 213 27 |thmas| #iF
114 13 |EpH>| &iF 214 03 |#z7e| idiF
115 16 (R #ir 215 45 | FEdT | i@iF




